Computers Math. Applic. Vol. 27, No. 2, pp. 1-8, 1994 Printed in Great Britain. All rights reserved 0898-1221/94 \$6.00 + 0.00 Copyright© 1994 Pergamon Press Ltd

The Distribution of Estimates of Parameters of Multidimensional Stationary AR Processes

G. Pap

Institute of Mathematics and Informatics Lajos Kossuth University, Pf. 12 H-4010 Debrecen, Hungary

(Received July 1993; accepted August 1993)

Abstract—It is shown that the suitably normalized maximum likelihood estimates of the parameters of periodical type of some multidimensional stationary AR processes have exactly normal distribution. This provides a generalization of the well-known behaviour of the estimate of period of a complex 1-dimensional AR process (see [1-6]).

Keywords—Multidimensional stationary autoregressive processes, Radon-Nikodym derivative, Itô's formula.

1. INTRODUCTION

Consider the complex-valued stationary autoregressive process $\xi(t) = \xi_1(t) + i\xi_2(t)$, $t \ge 0$, given by the stochastic differential equation

$$d\xi(t) = -\gamma\xi(t)\,dt + dw(t),$$

where $w(t) = w_1(t) + iw_2(t)$, $t \ge 0$, is a standard complex Wiener process (i.e., $w_1(t)$ and $w_2(t)$ are independent standard real-valued Wiener processes) and $\gamma = \lambda - i\omega$ with $\lambda > 0$, $\omega \in \mathbb{R}$.

Consider the statistics

$$s_{\xi}^2(t) = \int_0^t |\xi(u)|^2 \, du, \qquad r_{\xi}(t) = \int_0^t |\xi(u)|^2 \, d heta(u),$$

where $\theta(t), t \ge 0$, is defined by

$$\xi(t) = |\xi(t)| e^{i\theta(t)}.$$

The process

$$r_{\xi}(t) = \int_0^t (\xi_1(u) \, d\xi_2(u) - \xi_2(u) \, d\xi_1(u)), \qquad t \ge 0.$$

is called Lévy's stochatic area process. (It is interesting to remark that in case $\gamma = 0$, i.e., $\xi(t) = w(t), \ r_w(t) = \int_0^t (w_1(u) \, dw_2(u) - w_2(u) \, dw_1(u))$ the process $(w_1(t), w_2(t), r_w(t)), \ t \ge 0$, is just the standard Wiener process on the Heisenberg group, see e.g., [7,8].)

It is known that the maximum likelihood estimate of the period ω is

$$\hat{\omega}_{m{\xi}}(t) = rac{r_{m{\xi}}(t)}{s^2_{m{\xi}}(t)},$$

Typeset by $\mathcal{A}_{\mathcal{M}}S$ -TEX

This research was partially supported by the Hungarian Foundation for Scientific Researches under Grant Number OTKA-1655/1990.

G. Pap

and

$$\sqrt{s_{m{\xi}}^2(t)}\left(\hat{\omega}_{m{\xi}}(t)-\omega
ight)\stackrel{\mathcal{D}}{=}\mathcal{N}(0,1) \qquad ext{for all } t>0,$$

where $\stackrel{\mathcal{D}}{=}$ denotes equality in distribution. Surprisingly, we have exact distribution, not only an asymptotic property! This statement was first formulated in [4]. Complicated proofs can be found in [1,5,6,9]. Using Novikov's method, Arató [3] gave an elegant new proof.

The above mentioned result can be reformulated in the following way. Let us consider the 2-dimensional real-valued stationary autoregressive process X(t), $t \ge 0$, given by the stochastic differential equation

$$\begin{pmatrix} dX_1(t) \\ dX_2(t) \end{pmatrix} = \begin{pmatrix} -\lambda & -\omega \\ \omega & -\lambda \end{pmatrix} \begin{pmatrix} X_1(t) dt \\ X_2(t) dt \end{pmatrix} + \begin{pmatrix} dW_1(t) \\ dW_2(t) \end{pmatrix},$$

where W(t), $t \ge 0$, is a standard 2-dimensional Wiener process, and $\lambda > 0$, $\omega \in \mathbb{R}$. Consider the statistics

$$s_X^2(t) = \int_0^t (X_1^2(u) + X_2^2(u)) \, du, \qquad r_X(t) = \int_0^t (X_1(u) \, dX_2(u) - X_2(u) \, dX_1(u)).$$

Then the maximum likelihood estimate of the period ω is

$$\hat{\omega}_X(t) = \frac{r_X(t)}{s_X^2(t)},$$

and

$$\sqrt{s_X^2(t)} \left(\hat{\omega}_X(t) - \omega
ight) \stackrel{\mathcal{D}}{=} \mathcal{N}(0,1) \qquad ext{for all } t > 0.$$

The aim of the present paper is to generalize this result for some 3- and 4-dimensional stationary AR processes.

2. PRELIMINARIES

Let $X(t) = (X_1(t), \ldots, X_k(t)), t \ge 0$, be the k-dimensional stationary (continuous) process given by the stochastic differential equation

$$dX(t) = AX(t) dt + dW(t),$$

where W(t), $t \ge 0$, is a standard k-dimensional Wiener process, A is a $k \times k$ matrix with eigenvalues having negative real parts. It is known that X(t), $t \ge 0$ is a Gaussian process with

$$\mathbb{E}X(t) = 0, \qquad \mathbb{E}X(s+t)X^*(s) = R(t) = e^{tA}R(0),$$

where $R(0) = \mathbb{E}X(s)X^*(s)$ is the unique solution of the matrix equation

$$AR(0) + R(0)A^* = -I,$$
(1)

where I is the unit matrix.

Let $\mathbb{P}_{t,X}$ and $\mathbb{P}_{t,W}$ be the measures generated on $((C[0,t])^k, \mathcal{B}((C[0,t])^k))$ by the processes $X(s), 0 \leq s \leq t$ and $W(s), 0 \leq s \leq t$, respectively. If R(0) is nonsingular, the the measures $\mathbb{P}_{t,X}$ and $\mathbb{P}_{t,W}$ are equivalent and the Radon-Nikodym derivative has the form

$$\frac{d\mathbb{P}_{t,X}}{d\mathbb{P}_{t,W}}(X) = (2\pi)^{-k/2} \left(\operatorname{Det} R(0)\right)^{-1/2} \exp\left\{-\frac{1}{2}\left\langle R^{-1}(0)X(0), X(0)\right\rangle + \int_0^t \left\langle AX(u), dX(u)\right\rangle - \frac{1}{2}\int_0^t \left\langle AX(u), AX(u)\right\rangle \, du\right\}.$$

For an arbitrary symmetric matrix M, Itô's formula implies

$$\int_0^t \langle MX(u), dX(u) \rangle = \frac{1}{2} \left(\langle MX(t), X(t) \rangle - \langle MX(0), X(0) \rangle \right) - \frac{1}{2} t \operatorname{Tr} M,$$
(2)

where Tr denotes the trace. Formula (2) can be applied for evaluation of the Radon-Nikodym derivative splitting the matrix A into its symmetric and skew-symmetric parts

$$A = \frac{1}{2}(A + A^*) + \frac{1}{2}(A + A^*).$$

For investigation of the distribution of functionals of integral type we shall use the following statement (see e.g., [10,11]). Let ψ : $[0,T]^k \to \mathbb{R}$ be a function such that ψ , $\frac{\partial \psi}{\partial x_i}$, $\frac{\partial^2 \psi}{\partial x_i \partial x_j}$, $1 \le i, j \le k$ are bounded continuous functions. Then the function u(t,x), $0 \le t \le T$, $x \in \mathbb{R}^k$ defined by

$$u(t,x) = \mathbb{E}\left(\left.\exp\left\{\int_0^t \psi\left(X(s)\right)\,ds\right\}\right| X(0) = x\right)$$

is the solution of the Cauchy problem

$$\frac{\partial u}{\partial t} = \frac{1}{2}\Delta u + \langle AX, \nabla u \rangle + \psi(x)u, \qquad u(0,x) = 1 \text{ for } x \in \mathbb{R}^k.$$
(3)

For computation of expected value of a random variable the following simple formula holds. Let ξ and η be random variables with distributions \mathbb{P}_{ξ} and \mathbb{P}_{η} such that $\mathbb{P}_{\xi} \ll \mathbb{P}_{\eta}$ (\mathbb{P}_{ξ} is absolutely continuous with respect to \mathbb{P}_{η}). Let $g : \mathbb{R} \to \mathbb{R}$ be a bounded Borel-measurable function. Then

$$\mathbb{E}g(\xi) = \mathbb{E}\left(g(\eta)\frac{d\mathbb{P}_{\xi}}{d\mathbb{P}_{\eta}}(\eta)\right).$$

We shall make use of the conditional version of the above formula.

LEMMA 1. Let $(\Omega, \mathcal{A}, \mathbb{P})$ be a probability space and $(\mathbb{X}, \mathcal{X})$ a measurable space. Let $\xi, \eta : \Omega \to \mathbb{X}$ be random elements with distributions \mathbb{P}_{ξ} and \mathbb{P}_{η} such that $\mathbb{P}_{\xi} \ll \mathbb{P}_{\eta}$. Let $g, h : \mathbb{X} \to \mathbb{R}$ be measurable functions and suppose that g is bounded and $\mathbb{P}_{h(\eta)} \ll \mathbb{P}_{h(\xi)}$. Then

$$\mathbb{E}\left(g(\xi) \mid h(\xi) = x\right) = \mathbb{E}\left(\left.g(\eta)\frac{d\mathbb{P}_{\xi}}{d\mathbb{P}_{\eta}}(\eta)\right| h(\eta) = x\right)\frac{d\mathbb{P}_{h(\eta)}}{d\mathbb{P}_{h(\xi)}}(x) \qquad \left(\mathbb{P}_{h(\xi)} \text{ a.s. }\right).$$

PROOF. It is only to show that for any Borel set $B \in \mathcal{B}(\mathbb{R})$

$$\int_{B} \mathbb{E}\left(\left.g(\eta)\frac{d\mathbb{P}_{\xi}}{d\mathbb{P}_{\eta}}(\eta)\right|h(\eta) = x\right)\frac{d\mathbb{P}_{h(\eta)}}{d\mathbb{P}_{h(\xi)}}(x)\mathbb{P}_{h(\xi)}\left(dx\right) = \int_{\{\omega:h(\xi(\omega))\in B\}} g\left(\xi(\omega)\right)\mathbb{P}\left(d\omega\right).$$

The left-hand side is equal to

$$\begin{split} &\int\limits_{B} \mathbb{E} \left(\left. g(\eta) \frac{d\mathbb{P}_{\xi}}{d\mathbb{P}_{\eta}}(\eta) \right| h(\eta) = x \right) \mathbb{P}_{h(\eta)} \left(dx \right) = \int\limits_{\{\omega: h(\eta(\omega)) \in B\}} g\left(\eta(\omega) \right) \frac{d\mathbb{P}_{\xi}}{d\mathbb{P}_{\eta}} \left(\eta(\omega) \right) \mathbb{P} \left(d\omega \right) \\ &= \mathbb{E} \left(g(\eta) \chi_{h^{-1}(B)}(\eta) \frac{d\mathbb{P}_{\xi}}{d\mathbb{P}_{\eta}}(\eta) \right) = \mathbb{E} \left(g(\xi) \chi_{h^{-1}(B)}(\xi) \right) = \int\limits_{\{\omega: h(\xi(\omega)) \in B\}} g\left(\xi(\omega) \right) \mathbb{P} \left(d\omega \right), \end{split}$$

where $\chi_{h^{-1}(B)}$ denotes the indicator function of the set $h^{-1}(B) = \{x \in \mathbb{R} : h(x) \in B\}$. Hence the assertion.

3. A 3-DIMENSIONAL AR PROCESS

Consider the 3-dimensional stationary AR process X(t), $t \ge 0$ given by

$$\begin{pmatrix} dX_1(t) \\ dX_2(t) \\ dX_3(t) \end{pmatrix} = \begin{pmatrix} -\lambda & -\omega & \omega \\ \omega & -\lambda & -\omega \\ -\omega & \omega & -\lambda \end{pmatrix} \begin{pmatrix} X_1(t)dt \\ X_2(t)dt \\ X_3(t)dt \end{pmatrix} + \begin{pmatrix} dW_1(t) \\ dW_2(t) \\ dW_3(t) \end{pmatrix}$$

where W(t), $t \ge 0$ is a standard 3-dimensional Wiener process, and $\lambda > 0$, $\omega \in \mathbb{R}$. Consider the statistics

$$s_X^2(t) = 2 \int_0^t \left(X_1^2(u) + X_2^2(u) + X_3^2(u) - X_1(u)X_2(u) - X_1(u)X_3(u) - X_2(u)X_3(u) \right) du$$

=
$$\int_0^t \left(\left(X_1(u) - X_2(u) \right)^2 + \left(X_1(u) - X_3(u) \right)^2 + \left(X_2(u) - X_3(u) \right)^2 \right) du,$$

$$r_X(t) = \int_0^t \left(X_1(u) \, dX_2(u) - X_2(u) \, dX_1(u) + X_1(u) \, dX_3(u) - X_3(u) \, dX_1(u) \right. \\ \left. + X_2(u) \, dX_3(u) - X_3(u) \, dX_2(u) \right).$$

First we investigate the distribution of the statistic $s_X^2(t)$.

LEMMA 2. The distribution of $s_X^2(t)$ does not depend on the parameter ω (it depends only on the parameter λ).

PROOF. We present two methods for proving this important statement.

First we examine the conditional Laplace transform

$$u(t, x_1, x_2, x_3) = \mathbb{E}\left(\exp\left\{-\alpha s_X^2\right\} \middle| X_1(0) = x_1, X_2(0) = x_2, X_3(0) = x_3\right).$$

Applying (3) we obtain that $u: [0, \infty) \times \mathbb{R}^3 \to \mathbb{R}$ is the solution of

$$\begin{aligned} \frac{\partial u}{\partial t} &= \frac{1}{2} \left(\frac{\partial^2 u}{\partial x_1^2} + \frac{\partial^2 u}{\partial x_2^2} + \frac{\partial^2 u}{\partial x_3^2} \right) + (-\lambda x_1 - \omega x_2 + \omega x_3) \frac{\partial u}{\partial x_1} + (\omega x_1 - \lambda x_2 - \omega x_3) \frac{\partial u}{\partial x_2} \\ &+ (-\omega x_1 + \omega x_2 - \lambda x_3) \frac{\partial u}{\partial x_3} - 2\alpha \left(x_1^2 + x_2^2 + x_3^2 - x_1 x_2 - x_1 x_3 - x_2 x_3 \right) u \end{aligned}$$

with $u(0, x_1, x_2, x_3) = 1$ for $x_1, x_2, x_3 \in \mathbb{R}$. It can be shown easily that there is a function $v(t, \varrho)$, $t, \varrho \ge 0$ such that

$$u(t, x_1, x_2, x_3) = v(t, x_1^2 + x_2^2 + x_3^2 - x_1x_2 - x_1x_3 - x_2x_3)$$

and v is the solution of

$$rac{\partial v}{\partial t} = 3arrho rac{\partial^2 v}{\partial arrho^2} + 2(3 - \lambda arrho) rac{\partial v}{\partial arrho} - 2lpha arrho v$$

with $v(0, x_1, x_2, x_3) = 1$ for $x_1, x_2, x_3 \in \mathbb{R}$. Consequently, we obtain that the conditional distribution of the statistic $s_X^2(t)$ under the initial condition

$$X_1(0) = x_1, \quad X_2(0) = x_2, \quad X_3(0) = x_3$$

does not depend on the parameter ω . Solving the equation (1) we obtain $\mathbb{E}X(0)X^*(0) = R(0) = (2\lambda)^{-1}I$, thus the distribution of the variable $X(0) = (X_1(0), X_2(0), X_3(0))$ also does not depend on ω . Hence the assertion.

The second method for proving the lemma is based on Itô's formula. Let us examine the process

$$Z_X(t) = X_1^2(t) + X_2^2(t) + X_3^2(t) - X_1(t)X_2(t) - X_1(t)X_3(t) - X_2(t)X_3(t).$$

Using

$$d(X_1^2) = [2X_1(-\lambda X_1 - \omega X_2 + \omega X_3) + 1] dt + 2X_1 dW_1$$

$$d(X_1X_2) = [X_1(\omega X_1 - \lambda X_2 - \omega X_3) + X_2(-\lambda X_1 - \omega X_2 + \omega X_3)] dt + X_2 dW_1 + X_1 dW_2$$

and similar formulas for the other terms of $Z_X(t)$ we obtain

$$dZ_X = (3 - 2\lambda Z_X) dt + (2X_1 - X_2 - X_3) dW_1 + (2X_2 - X_1 - X_3) dW_2 + (2X_3 - X_1 - X_2) dW_3.$$

Consider now the process $W(t), t \ge 0$ defined by

$$\widetilde{W}(t) = \int_0^t \frac{(2X_1 - X_2 - X_3) \, dW_1 + (2X_2 - X_1 - X_3) \, dW_2 + (2X_3 - X_1 - X_2) \, dW_3}{\sqrt{6(X_1^2 + X_2^2 + X_3^2 - X_1X_2 - X_1X_3 - X_2X_3)}}$$

The paths of the process $\widetilde{W}(t)$, $t \ge 0$ are continuous with probability 1, and we have for all $0 \le s \le t$

$$\mathbb{E}\left(\widetilde{W}(t) \mid \mathcal{F}_{s}^{W}
ight) = \widetilde{W}(s)$$

 $\mathbb{E}\left(\left(\widetilde{W}(t) - \widetilde{W}(s)
ight)^{2} \mid \mathcal{F}_{s}^{W}
ight) = t - s,$

where $\mathcal{F}_s^W = \sigma \{W(u) : 0 \le u \le s\}$. Thus Lévy's theorem implies that $\widetilde{W}(t), t \ge 0$ is a standard Wiener process. Consequently, the process $Z_X(t), t \ge 0$ is a weak solution of the stochastic differential equation

$$dZ_X(t) = (3 - 2\lambda Z_X(t)) dt + \sqrt{6Z_X(t)} d\widetilde{W}(t).$$

Using again that the covariance matrix $\mathbb{E}X(0)X^*(0) = R(0) = (2\lambda)^{-1}I$ depends only on the parameter λ , we obtain that the distribution of $Z_X(0)$ depends only on λ . Hence the distribution of the whole process $Z_X(t)$, $t \geq 0$ does not depend on the parameter ω . Obviously this implies the statement of the lemma.

It should be remarked that the Laplace transform of $s_X^2(t)$ can be explicitly computed using the general result in Koncz [12], and it serves as a third proof of Lemma 2. One could also use Lemma 1 to find this Laplace transform as it is described in [3,13].

Now we are ready to investigate the maximum likelihood estimate.

THEOREM 1. The maximum likelihood estimate of the parameter ω is

$$\hat{\omega}_X(t) = \frac{r_X(t)}{s_X^2(t)},$$

and

$$\sqrt{s_X^2(t)} \left(\hat{\omega}_X(t) - \omega\right) \stackrel{\mathcal{D}}{=} \mathcal{N}(0, 1) \qquad \text{for all } t > 0.$$

PROOF. Using the covariance matrix $\mathbb{E}X(0)X^*(0) = R(0) = (2\lambda)^{-1}I$ we obtain that the Radon-Nikodym derivative has the form

$$\begin{split} \frac{d\mathbb{P}_{t,X}}{d\mathbb{P}_{t,W}}(X) &= \left(\frac{\lambda}{\pi}\right)^{3/2} \exp\left\{-\frac{1}{2}\lambda^2 \int_0^t \left(X_1^2(u) + X_2^2(u) + X_3^2(u)\right) \, du - \frac{1}{2}\omega^2 s_X^2(t) + \omega r_X(t) \right. \\ &\left. - \frac{\lambda}{2} \left(X_1^2(0) + X_2^2(0) + X_3^2(0) + X_1^2(t) + X_2^2(t) + X_3^2(t)\right) + \frac{3}{2}\lambda t \right\}. \end{split}$$

Consequently, the maximum likelihood estimate of the parameter ω is $\hat{\omega}_X(t) = r_X(t)/s_X^2(t)$.

Let us consider now another 3-dimensional stationary AR process $Y(t), t \ge 0$ given by

$$\begin{pmatrix} dY_1(t) \\ dY_2(t) \\ dY_3(t) \end{pmatrix} = \begin{pmatrix} -\lambda & -\omega + c & \omega - c \\ \omega - c & -\lambda & -\omega + c \\ -\omega + c & \omega - c & -\lambda \end{pmatrix} \begin{pmatrix} Y_1(t)dt \\ Y_2(t)dt \\ Y_3(t)dt \end{pmatrix} + \begin{pmatrix} dW_1(t) \\ dW_2(t) \\ dW_3(t) \end{pmatrix}$$

with the same Wiener process W(t), $t \ge 0$, and arbitrary $c \in \mathbb{R}$. Then the measures $\mathbb{P}_{t,X}$ and $\mathbb{P}_{t,Y}$ are equivalent and

$$\frac{d\mathbb{P}_{t,X}}{d\mathbb{P}_{t,Y}}(X) = \exp\left\{\frac{1}{2}(c^2 - 2c\omega)s_X^2(t) + cr_X(t)\right\}.$$

By the help of Lemma 1 and Lemma 2 we obtain

$$\mathbb{E}\left(\exp\left\{-c\left(r_X(t)-\omega s_X^2(t)\right)\right\} \mid s_X^2(t)=\sigma^2\right) = \mathbb{E}\left(\exp\left\{\frac{1}{2}c^2 s_X^2(t)\right\} \mid s_X^2(t)=\sigma^2\right) \frac{d\mathbb{P}_{s_Y^2(t)}}{d\mathbb{P}_{s_X^2(t)}} \left(\sigma^2\right)$$
$$= \exp\left\{\frac{1}{2}\sigma^2 c^2\right\}.$$

Consequently,

$$\mathbb{E}\left(\exp\left\{-c\sqrt{s_X^2(t)}\left(\hat{\omega}_X(t)-\omega\right)\right\} \middle| s_X^2(t)=\sigma^2\right)$$
$$=\mathbb{E}\left(\exp\left\{-\frac{c}{\sigma}\left(r_X(t)-\omega s_X^2(t)\right)\right\} \middle| s_X^2(t)=\sigma^2\right)=\exp\left\{\frac{1}{2}c^2\right\}$$

Hence we obtain

$$\mathbb{E}\exp\left\{-c\sqrt{s_X^2(t)}\left(\hat{\omega}_X(t)-\omega\right)
ight\}=\exp\left\{rac{1}{2}c^2
ight\}$$

for all $c \in \mathbb{R}$, which proves the assertion.

4. A 4-DIMENSIONAL AR PROCESS

Consider the 4-dimensional stationary AR process $X(t), t \ge 0$ given by

$$\begin{pmatrix} dX_1(t) \\ dX_2(t) \\ dX_3(t) \\ dX_4(t) \end{pmatrix} = \begin{pmatrix} -\lambda & -\omega_1 & -\omega_2 & -\omega_3 \\ \omega_1 & -\lambda & \omega_3 & -\omega_2 \\ \omega_2 & -\omega_3 & -\lambda & \omega_1 \\ \omega_3 & \omega_2 & -\omega_1 & -\lambda \end{pmatrix} \begin{pmatrix} X_1(t)dt \\ X_2(t)dt \\ X_3(t)dt \\ X_4(t)dt \end{pmatrix} + \begin{pmatrix} dW_1(t) \\ dW_2(t) \\ dW_3(t) \\ dW_4(t) \end{pmatrix}$$

where W(t), $t \ge 0$ is a standard 4-dimensional Wiener process, and $\lambda > 0$, $\omega_1, \omega_2, \omega_3 \in \mathbb{R}$. Consider the statistics

$$s_X^2(t) = \int_0^t \left(X_1^2(u) + X_2^2(u) + X_3^2(u) + X_4^2(u) \right) du$$

$$r_X^{(1)}(t) = \int_0^t \left(X_1(u) \, dX_2(u) - X_2(u) \, dX_1(u) + X_4(u) \, dX_3(u) - X_3(u) \, dX_4(u) \right)$$

$$r_X^{(2)}(t) = \int_0^t \left(X_1(u) \, dX_3(u) - X_3(u) \, dX_1(u) + X_2(u) \, dX_4(u) - X_4(u) \, dX_2(u) \right)$$

$$r_X^{(3)}(t) = \int_0^t \left(X_1(u) \, dX_4(u) - X_4(u) \, dX_1(u) + X_3(u) \, dX_2(u) - X_2(u) \, dX_3(u) \right)$$

First we investigate the distribution of the statistic $s_X^2(t)$.

LEMMA 3. The distribution of $s_X^2(t)$ does not depend on the parameter ω (it depends only on the parameter λ).

PROOF. The first method of the proof of Lemma 2 gives that for the conditional Laplace transform

$$u(t, x_1, x_2, x_3, x_4) = \mathbb{E}\left(\exp\left\{-\alpha s_X^2\right\} \middle| X_1(0) = x_1, X_2(0) = x_2, X_3(0) = x_3, X_4(0) = x_4\right),$$

we have

$$u(t, x_1, x_2, x_3, x_4) = v(t, x_1^2 + x_2^2 + x_3^2 + x_4^2),$$

where v is the solution of

$$\frac{\partial v}{\partial t} = 2\varrho \frac{\partial^2 v}{\partial \varrho^2} + 2(2 - \lambda \varrho) \frac{\partial v}{\partial \varrho} - \alpha \varrho v$$

with $v(0, x_1, x_2, x_3, x_4) = 1$ for $x_1, x_2, x_3, x_4 \in \mathbb{R}$, which proves the assertion. Of course, the second method can also be applied, which shows that even the distribution of the whole process $X_1^2(t) + X_2^2(t) + X_3^2(t) + X_4^2(t)$, $t \ge 0$ does not depend on the parameters $\omega_1, \omega_2, \omega_3$.

Now we investigate the maximum likelihood estimate.

THEOREM 2. The maximum likelihood estimates of the parameters $\omega_1, \omega_2, \omega_3$ are

$$\hat{\omega}_X^{(j)}(t) = rac{r_X^{(j)}(t)}{s_X^2(t)}, \qquad j=1,2,3,$$

and

$$\sqrt{s_X^2(t)} \left(\hat{\omega}_X^{(1)}(t) - \omega_1, \hat{\omega}_X^{(2)}(t) - \omega_2, \hat{\omega}_X^{(3)}(t) - \omega_3) \right) \stackrel{\mathcal{D}}{=} \mathcal{N}(0, I) \qquad \text{for all } t > 0.$$

PROOF. Using the covariance matrix $\mathbb{E}X(0)X^*(0) = R(0) = (2\lambda)^{-1}I$ we obtain that the Radon-Nikodym derivative has the form

$$\begin{aligned} \frac{d\mathbb{P}_{t,X}}{d\mathbb{P}_{t,W}}(X) &= \frac{\lambda^2}{\pi^2} \exp\left\{-\frac{1}{2}(\lambda^2 + \omega_1^2 + \omega_2^2 + \omega_3^2)s_X^2(t) + \omega_1 r_X^{(1)}(t) + \omega_2 r_X^{(2)}(t) + \omega_3 r_X^{(3)}(t) \right. \\ &\left. - \frac{\lambda}{2} \left(X_1^2(0) + X_2^2(0) + X_3^2(0) + X_4^2(0) + X_1^2(t) + X_2^2(t) + X_3^2(t) + X_4^2(t)\right) + 2\lambda t \right\}. \end{aligned}$$

Consequently the maximum likelihood estimates of the parameters $\omega_1, \omega_2, \omega_3$, are $\hat{\omega}_X^{(j)}(t) = r_X^{(j)}(t)/s_X^2(t)$, j = 1, 2, 3.

Let us consider now another 4-dimensional stationary AR process Y(t), $t \ge 0$ given by

$$\begin{pmatrix} dY_{1}(t) \\ dY_{2}(t) \\ dY_{3}(t) \\ dY_{4}(t) \end{pmatrix} = \begin{pmatrix} -\lambda & -\omega_{1} + c_{1} & -\omega_{2} + c_{2} & -\omega_{3} + c_{3} \\ \omega_{1} - c_{1} & -\lambda & \omega_{3} - c_{3} & -\omega_{2} + c_{2} \\ \omega_{2} - c_{2} & -\omega_{3} + c_{3} & -\lambda & \omega_{1} - c_{1} \\ \omega_{3} - c_{3} & \omega_{2} - c_{2} & -\omega_{1} + c_{1} & -\lambda \end{pmatrix} \begin{pmatrix} Y_{1}(t) dt \\ Y_{2}(t) dt \\ Y_{3}(t) dt \\ Y_{4}(t) dt \end{pmatrix} + \begin{pmatrix} dW_{1}(t) \\ dW_{2}(t) \\ dW_{3}(t) \\ dW_{4}(t) \end{pmatrix}$$

with the same Wiener process W(t), $t \ge 0$, and arbitrary $c_1, c_2, c_3 \in \mathbb{R}$. Then the measures $\mathbb{P}_{t,X}$ and $\mathbb{P}_{t,Y}$ are equivalent and

$$\begin{aligned} \frac{d\mathbb{P}_{t,X}}{d\mathbb{P}_{t,Y}}(X) &= \exp\left\{\frac{1}{2}(c_1^2 + c_2^2 + c_3^2 - 2c_1\omega_1 - 2c_2\omega_2 - 2c_3\omega_3)s_X^2(t) \\ &+ c_1r_X^{(1)}(t) + c_2r_X^{(2)}(t) + c_3r_X^{(3)}(t)\right\}.\end{aligned}$$

By the help of Lemma 1 and Lemma 3, we obtain

$$\mathbb{E}\left(\exp\left\{-c_{1}\left(r_{X}^{(1)}(t)-\omega_{1}s_{X}^{2}(t)\right)-c_{2}\left(r_{X}^{(2)}(t)-\omega_{2}s_{X}^{2}(t)\right)\right.\\\left.\left.-c_{3}\left(r_{X}^{(3)}(t)-\omega_{3}s_{X}^{2}(t)\right)\right\}\left|s_{X}^{2}(t)=\sigma^{2}\right)=\exp\left\{\frac{1}{2}\sigma^{2}\left(c_{1}^{2}+c_{2}^{2}+c_{3}^{2}\right)\right\}.$$

Finally,

$$\mathbb{E} \exp\left\{-\sqrt{s_X^2(t)} \left(c_1\left(\hat{\omega}_X^{(1)}(t) - \omega_1\right) + c_2\left(\hat{\omega}_X^{(2)}(t) - \omega_2\right) + c_3\left(\hat{\omega}_X^{(3)}(t) - \omega_3\right)\right)\right\} \\ = \exp\left\{\frac{1}{2} \left(c_1^2 + c_2^2 + c_3^2\right)\right\}$$

for all $c_1, c_2, c_3 \in \mathbb{R}$, which proves the assertion.

REMARK 1. The 4-dimensional real-valued stationary autoregressive process X(t), $t \ge 0$ can be identified with the 2-dimensional complex-valued stationary process

$$(\xi(t),\eta(t)) = (\xi_1(t) + i\xi_2(t),\eta_1(t) + i\eta_2(t)), \qquad t \ge 0,$$

given by the stochastic differential equation

$$egin{pmatrix} d\xi(t) \ d\eta(t) \end{pmatrix} = egin{pmatrix} -\lambda + i \omega_1 & \omega_2 - i \omega_3 \ \omega_2 + i \omega_3 & -\lambda - i \omega_1 \end{pmatrix} \ egin{pmatrix} \xi(t) \, dt \ \eta(t) \, dt \end{pmatrix} + egin{pmatrix} du(t) \ dv(t) \end{pmatrix},$$

where u(t) and v(t) are independent standard complex Wiener processes.

REMARK 2. A similar result holds for the 4-dimensional stationary AR process with coefficient matrix

$$A=egin{pmatrix} -\lambda & -\omega_1 & -\omega_2 & -\omega_3 \ \omega_1 & -\lambda & -\omega_3 & \omega_2 \ \omega_2 & \omega_3 & -\lambda & -\omega_1 \ \omega_3 & -\omega_2 & \omega_1 & -\lambda \end{pmatrix}.$$

Other 4-dimensional stationary AR processes with one or two parameters of periodic type can be found, having structure different from the above mentioned examples, for which the suitably normalized maximum likelihood estimates of these parameters are exactly normally distributed.

REFERENCES

- 1. M. Arató, Linear stochastic systems with constant coefficients. A statictical approach, Lecture Notes in Control and Inf., Vol. 45, p. 309, Springer-Verlag, Berlin, (1982); (in Russian) Nauka, Moscow, (1989).
- M. Arató, Lévy's random domains on the plain, In Probability Theory and Applications. Essays to the Memory of József Mogyoródi, (Edited by J. Galambos and I. Kátai) pp. 99-102, Kluwer, Boston, (1992).
- 3. M. Arató, A new proof of Lévy's random domain, Publ. Math. (1993) (to appear).
- M. Arató, A.N. Kolmogorov and Ya.G. Sinay, Estimation of the parameters of a complex stationary Gaussian Markov process, Dokl. Akad. Nauk SSSR 146, 747–750 (1962).
- 5. R. Liptser and A. Shiryayev, Statistics of Random Processes, Springer-Verlag, (1977).
- A. Novikov, On the estimation of parameters of diffusion processes, Studia Sci. Math. Hungarica 7, 201-209 (1972).
- 7. P. Baldi, Large deviations and functional iterated logarithm law for diffusion processes, *Probab. Theory* Relat. Fields **71**, 435-453 (1986).
- 8. G. Pap, Central limit theorems on nilpotent Lie groups, (1993) (to appear).
- 9. M. Arató, Confidence limits for the parameter λ of a complex stationary Gaussian Markovian process (in Russian), Theory Probab. Appl. 13, 326-333 (1968).
- 10. I.I. Gikhman and A.V. Skorokhod, Introduction to the Theory of Random Processes, W.B. Saunders, Philadelphia, (1969).
- 11. A. Friedman, Stochastic Differential Equation and Applications, Academic Press, New York, (1975).
- 12. K. Koncz, On the parameter estimation of diffusional type processes with constant coefficients, Analysis Mathematica 13, 75–91 (1987).
- 13. M. Arató, On the solution Kac type partial differential equations, (1993) (Preprint).
- M. Arató and A. Benczúr, Distribution function of the damping parameter of stationary Gaussian processes, Studia Sci. Math. Hungarica 5, 445-456 (1970).
- 15. P. Lévy, Processus Stochastiques et Mouvement Brownian, 2éme éd, Gauthier-Villars, Paris, (1965).